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Note:~ You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
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algorithms or work planning?
solution solution solution
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None of Moral . Categorical Boolean “Is it summer outside” is a
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. is a graphical representation of an
Solution Flow chart Graph Matrix algorithm
AU AR RO VIO e, Sy b LISHTML | 4
None of Above | both(a) and (b) Mark up Programming HTML code is a language.
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Definition List | Nested List | UnorderedList | Ordered List An individual List item can contain another
entire list called .
15 18 16 17 i SITEL | 6
Hexa decimal system has total numbers.
Found Transfer |  File Total Fix Transfer | File Transfer S K AFTP | 7
Protocol Protocol Protocol Protocol FTP stands for ‘
el SF 4
30 " 5% %1 el YA ULIPVA | .8
The IPv4 address is made up of binary bits.
Disk on Dedial of Diskoff | Disk object S i#¥7DOS | .9
Service Service System System DOS stands for '
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Online Piracy | Client Server Liability Softlifting | Which of the following does not include the
Overuse types of Software Piracy? l
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Part I

Answer briefly any Four parts from the followings.
What is meant by trace table? T AL/ c.J‘-" 2 G
Write the name of any two symbols of flowchart.
What are the strategies of defining a problem?
Write the name of HTML elements.
Differentiate between paired tags and singular tags?
Answer briefly any Four parts from the followings.
How can we convert Hexadecimal to Binary?
Convert (1000001), to decimal.
Write four examples of storage devices.
Prove A+B=B+A with truth table.
Describe sabotage. ~&% e Ssbie ¥ (vi)

Answer briefly any Four parts from the followings.

How computers are connected in computer network?
Write one example of IPv6 address?

What is the use of switch/hub?

Where we use Multi Point connection?

Write HTML code/ tag to make the word “PAKISTAN” bold?

Which tag attribute is Text?
Part
. Note: Attempt any Two Questions.
5. What is meant by algorithm? State three advantages

I

and disadvantages of algorithms.
6. Differentiate between Star Topology and Ring

Topology. Also give two advantages of each topology.

7.  Write the names of Ethical Issues related to data

security and explain any three Ethical Issues in detail.
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Answer briefly any Four parts from the followings. 4x2=08 ..‘,[/ 4; .::‘U:?/"? £I:?I/g:.(jf a3t 2 / i

How can we solve a problem?
State the importanee of flowcharts in problem solving.
Compare advantages and disadvantages of an Algorithm.
Define Anchor. -2y 7§ &) (v)
Write tag to add image in HTML.

Answer briefly any Four parts from the followings.
Write the use of truth table. &0 Jiig H 2:/‘ Gi)
Convert (156),, into Binary number System,
Define compound proposition.

What do you know about advance fee fraud?
Define copyright law.

Answer briefly any Four parts from the followings.
Define the internet.
What is meant by Receiver?
What is the use of Transmission Medium.
Explain Routing on Internet.
What is meant by make a table in HTML.,
What is web page?

Part II
Note: Attempt any Two Questions.

5. Explain determining requirements for a flowchart.

‘6. Write aote on star Topology and Mesh Topology.

7. Define cybercrime and explain three types of cybercrime.
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